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In 1971, after Einsteins death, two scientists were able to carry out a
crucial experiment. They used two atomic clocks, synchronized
them, and placed one on a plane, while the other stayed in the same
location on Earth. The plane then flew around the world for 80
hours. According to Einsteins theory, the clock on the plane would
be expected to have lost time, due to being in motion over 80 hours
compared to the clock on the ground. When they brought the clocks
together and made a comparison, the clock on the plane was indeed
a few nanoseconds slower than the other clock. O U 00 O 00 O [
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travel is clearly a trickier proposition than space travel, though. Put
simply, Einsteins idea was that every object in the universe has its
own“ time” , and these vary as objects move. The faster an object
moves, the slower its time is, compared to the time of a slower
moving object. The extreme situation would be if an object could
move as fast as the speed of light, its time would be completely



halted. But whatever an object--or persons--time is, its only evident
In contrast to other objects. In other words, its all relatives. [1 [ [J [
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